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280,000 x 12€ = 3,360
o AalieAEF(ASHY S) 1,500,000 x 15| = 1,500
ot URsEUL ES 1,500,000 x 427| = 6,000
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o A A O|E A& ARE 300,000 x 33| = 900
o ot 20,000 x 807ff = 1,600
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0 H2jo|= BaEt 770,0009 x 17 = 770
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O O{ZI0|HBHA 2SR 115,0009 x 2CH = 230
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O Yazh Yy gz 43,0009 x 158 x 128 = 7,740
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30,0009 x TA|Ztx 523 x 2@
30,0009 x TA|ZEx 525 x 2&
20,0009 x 2A|Zt x 52 x 2H

33,0009 x 10A|ZF x 522 x 1%

St
55,0009 x 1A|7F x 482 x 18 =

50,0008 x 1A|Ztx 44% x 1Y
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’lEg 15,0008 x 30A|ZF x 523 x 8%
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AxpG 15,0009 x 30A[7H/5¢ x 16Y x 8%Y
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TR 15,0009 x 25A12F /5 x 43 x 4%
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(=]
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o AlZtel =4 22,5009 x 5A|2F x 128 x 28 = 2,700
0 A7IAFTH WA HIEAY 800,0009 x 43| x 5% x 87.5% = 14,000
O O{7FA|S A|ZHZAL 607,028
o &y 40,0009 x 17A[Ztx 52 x 1Y = 35,360
0 7Ot of e 40,0008 x 2A|Ztx 52Z x 19 = 4.160
o 0f|o]24(2h 39,600
- Jl2e 30,0009 x 20A|Zkx 52F x 1Y = 31,200
FReY 30,0009 x 20A|ZH/ 5Y x 52F x 1Y = 6,240
- Y 30,0009 x 20A|ZH/ 5 x 18Y x 19 = 2,160
0 MH{THA 35,0009 x 3A|2F x 52 x 19 = 5,460
o 0f|0] 24 (0FZteh) 35,0009 x 5A|2F x 52 x 1& = 9,100
o Of| 0128 (A= B 35,0009 x 5A|ZF x 52 x 1& = 9,100
0RE 33,000
JlEg 25,0009 x 20A|2k x 52F x 19 = 26,000
FR&Y 25,0009 x 20A|ZH/ 5Y x 52F x 19 = 5,200
Azt 25,0009 x 20A|2H/ 5 x 18U x 1Y = 1,800
oprals 33,0009 x 5A|2F x 52 x 1& = 8,580
o®IE, LRI 27,143
les 25,0009 x 16.5A|2t x 52F x 1& = 21,450
FR&Y (25,000 x 16.5A[2t) /5% x 52F x 19 = 4,290
Azt (25,000% x 16.5A[Zh) /5 x 17Y x 1 = 1,403
o HYEQIE 26,167
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FR&Y
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0 K-POP & 2 THA 50,0009 x 2A|7F x 52 x 1& = 5,200
o SHIRIELA 50,0009 x 12A|7F x 52 x 1 = 31,200
o 2ZILTt 37,0009 x 7A|2E x 52 x 1& = 13,468
o LRI} 37,0009 x 1 5A|2tx 522 x 19 = 2,886
o Lo ER7t 37,0009 x 3A|ZEx 52F x 1% = 5,772
o It 7t 37,0009 x 9A|ZE x 52 x 1 = 17,316
o Tatg A 50,0009 x 18A|7F x 52 x 1& = 46,800
0 HHATHA 50,0009 x 4A|7F x 523 x 1& = 10,400
o 27|83t uA= 55,0009 x 4 5A|Ztx 523 x 19 = 12,870
o FUYSUHA 50,0009 x 3A|7F x 52 x 1& = 7,800
o LR LTt 37,0009 x 3A|ZF x 52 x 1 = 5,772
o S2tel Ha|ghA 13,000
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H, 2zt 50,0009 x 3A|7F x 52 x 1& = 7,800
OFZHgH 50,0009 x 2A|7F x 52 x 1& = 5,200
o U WathlA 50,0009 x 1.5A1Zkx 52F x 1Y = 3,900
o FLEFUA 50,0009 x 1.5A1Zkx 52% x 1Y = 3,900
o SYE47 40,0009 x 3A|Zkx 52F x 19 = 6,240
oA LE 27t 37,0009 x 3A|ZEx 52F x 19 = 5,772
oYY 2E 37,0009 x 3A|ZF x 52 x 1& = 5,772
o 2fQleiA 40,0009 x 12A[Zkx 52 x 1Y = 24,960
05 30,0009 x 5A|2F x 523 x 1& = 7,800
osTYE 30,0009 x 6A|ZEx 85 x 19 = 1,440
o HAEER|0]'d BiEA| ZA}
345,000 x 10 x 1270 x 4Y x 70% = 115,920
o Ao (ElZ) 40,0009 x 4 5A|2k x 52F x 1Y = 9,360
= E= Bl 40,0008 x 2A|Ztx 52Z x 19 = 4.160
0 2= HApz2|H| 1,200,000¥ x 4%Y = 4,800
0 0{2I0] Ql2tel AHO|E 40,0009 x 1542t x 52F x 1Q = 3,120
0 A S U HIEA| 70,0009 x 209 x 12¢¥ x 50% = 8,400
o CtOJO{E THA 30,0009 x 5A|2F x 523 x 1& = 7,800
0HZmH AEY Y 37,0009 x 3A|2E x 52F x 1& = 5,772
o Ot HE Bt 50,0009 x 3A|7F x 52 x 1& = 7,800
o FULHEDIE
((15,0009 x 2.5A1ZH + (28,0009 x 5.5A|2H) x 52 x 1@ = 9,958
O U4 AZHEAL 119,360
o AT Z 3 ZH5(A) 20,000 x 3A|ZHx 525 x 8 = 24,960
o AT 2 M A45(B) 20,000 x 2A|Ztx 52% x 7H = 14,560
o PIEOfZI0lEt A 20,0009 x 10A|2t x 28| x 3@ = 1,200
o ?{EtofZiojgt B 20,0009 x 8A|Zkx 28] x 4% = 1,280
o T gelgt 25,0009 x 2A|2F x 523 x 3& = 7,800
o L ofZlo|gt 25,0009 x 24|27k x 523 x 9 = 23,400
o YWStEY 20,0009 x 5A|7F x 8¢ x 128 = 9,600
o ST Qe 20,0009 x 8A|2F x 523 x 28 = 16,640
0 A|ZHZAL ZE 4T 20,0009 x 3A|Ztx 123 x 69 = 4,320
o ¥2E BAR|(HY) 20,0009 x 2A|Zkx 52 x 19 = 2,080
o ¥2E BEZ|(R2Y) 25,0009 x 2A|2F x 523 x 2% = 5,200
o St Ty tHZ R 10,0009 x 8A|Zk x 52F x 2 = 8,320
O SLASE AlZHZAL 74,343
odEER 25,821
== 9,000% x 40A|ZF x 523 x 1& = 18,720
FReY 9,000% x 40A|Zk/ 5 x 52F x 1Y = 3,744
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Azt 9,000 x 40A|2+/5Y x 18U x 1&H = 1,296
AlZte| =4 13,5009 x 144A|2tx 1 = 1,944
Opztsg 45008 x 0.5A|12t x 52 x 18 = 117
odlExz 48,522
2= 8,430¥ x 40A[7F x 52 x 20 = 35,069
Y 8,430 x 40A[Zt/ 5 x 52 x 20 = 7,014
Az 8,430 x 40A|1ZH/ 5 x 18 x 28 = 2,428
<Azt g 12,6409 x 144A|2t x 1H = 1,821
ORteg 42109 x 2A1Zk x 5 x 52 = 2,190
O S AIZHEAL 5,616
oRYZR 12,0008 x 9A|Zt x 52 x 19 = 5,616

305 Hid=ES 1,850 1,850

O faAitae 2t & 245 Hi4 1,850,000 x 14 = 1,850 1,850 1,850
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200 AH2A2|E 329,730 60,980 268,750
230 QEzARE 329,730 60,980 268,750
233 Us 9,840 33,200 23,360
401 AldH|LRhy| 9,840 33,200 23,360
01 AlgH] 9,840 33,200 23,360

O =& ARIE4 ZAt 820,000% x 1229 = 9,840
237 37|17HIE 319,890 27,780 292,110
405 ZHtZSHIS 319,890 27,780 292,110
01 ApAtz|SH| 319,890 27,780 292,110

S0l 110,590

o Of2I0] MEHHA(Th) 107,000,0009¥ x 1CH = 107,000

0 PAZIZ HAT|(ThA) 380,0009 x 1€ = 380

0 YA Z2IE{7| (CH) 350,000 x 16 = 350

o WD (Th) 200,0009 x 1€ = 200

0 1028 R A (ChA) 380,000 x 271 = 760

0 32UE RA|E 24 (CHA) 100,0009 x 27 = 200

o 20| (| 240,0009 x 17 = 240

o YT ZITH(CHA) 300,0009 x 17 = 300

0 =& EH(CHA) 380,0009 x 27} = 760

0 FOIE A= EH(CHA) 400,000% x 17 = 400

o3& 2,700

0 TMAEAT|(ChA)) 1,700,000 x 1¢cf = 1,700

0 OFFL0LZ2 Y] B4 ATI|H 500,0009 x 2Cf = 1,000

O o7t 19,700

o REOHE(THA) 270,0009! x 50% = 13,500

o tdE STHH(ALA, YT &) (CHA)

2,800,000 x 14 = 2,800

o WA 24 HAT|(THA) 800,0009 x 2Cf = 1,600

0 2Ol 28 H47|(Ch) 400,000 x 204 = 800

o Z2{ 2{|0[A S&7|(ChAI) 1,000,0009 x 1c = 1,000

O —F 3,150

o MIEFZ|(CHAI) 550,000% x 10 = 550

0 3134 SHE =2t0|0f (Th) 500,0009 x 2Cf = 1,000

o CHE MZ2|(THA) 200,000 x 4cff = 800

o S 20| F&7|(CHA) 800,000& x 1Cff = 800

O S 2IE] 3,800

0 3| A7I= LS| (hAl) 3,800,0009x 1L = 3,800

O Uy 179,950

o CHO{-E K2 20| E(ThA)) 55,0009 x 150F = 8,250




[H2AIRIE ]

2:(200)A=HAE 9 (230)FYAHIZS

Mg (237)37|7BIS  =:(405)AHt2SHIS CHel t M@
e
T% oMY= oty | LXS | 8%

o Li0IE AL EAH| 0| E(CHA))
0 CHO{ A O[E 2| CH (CHA)
o ZL7I(CHA)

0 AEE 21(Al7)

150,000¥ x 20% =
825,000 x 47 =
165,000,000¥ x 1Cf =
400,000 x 17 =

3,000
3,300
165,000
400




